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template <class T>
class Stack {

public: // tRANEEE
void clear(); /] ZTH=TE

bool push(const T item);

/] itemA\i% , FDIIREIE , BN
bool pop(T& item); // REFRETRASFEY |, RIDREER , SR
bool top(T& item); // REFRETEAREE |, BIREIE , BN

bool isEmpty(); // GiRETIREIE
bool isFull(); // EtREHmREIE
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template <class T> class arrStack : public Stack <T> {

private: // &R EFAE
int mSize; // HRPERZEFHAVITEEL
int top; // RIRRIE , M/\vFmSize
T *st; /! FRARTTRAIENA
public: // tRENEERINFSCI
arrStack(int size) { /! BIEBE—MEERERIIF LTS
mSize = size; top = -1; st = new T[mSize];
}
arrStack() { // BIEE— MR EAYSE)
top = -1;
}

~arrStack() { delete [] st; }
void clear() { top = -1; } // 8=tk
}
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FEAtEIR

bool arrStack<T>::push(const T 1tem) {
if (top == mSize-1) { // t%REiwm
cout << "fEiEmimtH" << endl;
return false;
} else { /] FTTENERFHEAGRTEET
st[++top] = item;
return true;
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MieTRsE

bool arrStack<T>::pop(T & item) { // HiE
if (top == -1) { /] tRPET
cout << "TRAT , FEEFITHIRERIE << endl;
return false;
} else {
item = st[top--]; // IR[E[fEIT , H4&EE1
return true;
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template <class T> class lnkStack : public Stack <T> {

private: // TRRVSETVIFAE
Link<T>* top; // IERIRIRAYIEET
int size; /! FHOTERINEL
public: // tRIEEHIHET LI
1nkStack(int defSize) { /] TNERREL
top = NULL; size = 0O;
}
~1nkStack() { // HTIERREL
clear();
}
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FENZIR
/] NiEERERVSET I
bool lnksStack<T>:: push(const T item) {
Link<T>* tmp = new Link<T>(item, top);
top = tmp;
size++;
return true;

¥

Link(const T info, Link* nextValue) {// BEEENESZHILinkIIEERZL
data = info;

next = nextValue;

}
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// R ERYHETUEEN
bool 1nkStack<T>:: pop(T& item) {
Link <T> *tmp;
if (size == 0) {
cout << "fENZT , FEEHUTHIRIEIE << endl;

return false;

}

item = top->data;
tmp = top->next;
delete top;

top = tmp;
size--;

return true;

}
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class Calculator {
private:

Stack<double> s; /] RN ERTENRFERIFE
/] MIERTGERH MR FElopd14lopd2

bool GetTwoOperands(double& opdl,double& opd2);

/] BXFRMERIEEL , FHRop RN EEUHITITE

void Compute(char op);

public:
Calculator(void){} ; // BETTEESSLH , FFRF—1 =%
void Run(void); /] BENESERIAL B "=" FSER
void Clear(void); /] BRITEER AT KITEIRES
¥
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template <class ELEM>
bool Calculator<ELEM>::GetTwoOperands(ELEM& opndl, ELEM& opnd2) {
if (S.IsEmpty()) A
cerr << "Missing operand!" <<endl;
return false;

}

opndl = S.Pop(); // FE{FEL

if (S.IsEmpty()) {
cerr << "Missing operand!" <<endl;
return false;

}

opnd2 = S.Pop(); // FiE(FEL

return true;
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template <class ELEM> void Calculator<ELEM>::Compute(char op) {
bool result; ELEM operandl, operand2;
result = GetTwoOperands(operandl, operand2);
if (result == true)
sw1tch(op) {

case '"+' : S.Push(operand2 + operandl); break;
case '-' : S.Push(operand2 - operandl); break;
case '"*' : S.Push(operand2 * operandl); break;
case '/' : if (operandl == 0.0) {

cerr << "Divide by 0!" << endl;
S.ClearStack();
} else S.Push(operand2 / operandl);
break;

}
else S.ClearStack();

}
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template <class ELEM> void Calculator<ELEM>: :Run(void) {
char c¢; ELEM newoperand;
while (cin >> ¢, c I= "=") {
switch(c) {
case '+': case '-': case '*': case '/':
Compute(c);
break;
default:
cin.putback(c); cin >> newoperand;

Enter(newoperand) ;

break;
}
}
if (!S.IsEmpty())
cout << S.Pop() << endl; // ENERENREER

}
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